1. Route on Network Analysis layer has NAME (406, 413, 415, etc)

Tahle
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ObjectlD Shape Hame FirstStoplD LastStoplD StopCount Total_Length
134 |Palyline M 406 3953 3980 28 10130263445
135 |Palyline M 413 3951 4021 4 19357 486917
136 Polyline M 415 4022 4073 52 1766412633
137 |Palyline M 436 4074 4114 4 14666 576461
135 Polyline M 435 4115 4147 33 13462030403
139 [Palyline M 439 4145 4200 a3 18313.835441
140 (Palyline M 440 4201 4234 34 10244 5221587
141 [Palyline M 444 4235 4278 44 14479.443316
142 |Palyline M 445 4279 4331 a3 17BE3.37T412
143 |Palyline M 4350 4332 4386 25 20504 074377
144 |Palyline M 455 4387 4431 45 1B6I0.1 74657
145 |Polyline h 459 4432 4465 34 14451 572341
146 |Palyline M 461 4466 44584 19 15191 033666
147 |Palyline M 462 44385 4515 | 14307 281599
148 Palyline M 463 4516 4523 g 2976.412595
149 Palyline M 464 4524 4560 37 12801 491211
150 (Palyline M 466 4561 4604 44 158558 595957
151 |Palvline M 480 4605 4631 27 16890108053

2. Schematic RoutelD does not have the same ID as route on Network Analysis:

Table
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TOPORT | FLOWDIRECTION | UGUID Shape SHAPE_L ength SourcelD Source0ID EID FromPosition ToPosition FromJunctionlD ToJunctionlD RoutelD Attr_L ength Cumul_Length

a Of=Mull= |Palyline  |<Mull= Riosdz_MI 312431 427616 1} 000594721 2143 2144 143 127733 11163
a Of=Mull= |Palyling | <Mull= Riosdz_Ml 254486 421736 1} 0121128 2154 2155 143 22.4872 11670
a Of=Mull= |Palyling | <Mull= Riosdz_Ml 156464 421641 1} 0816991 2165 2166 143 27943 12800
1} Of=Mull= |Palyline | =Mull= Fiosdz_Ml 154671 421620 1} 0536303 2176 2177 143 57 .B796 13347
1} Of=Mull= |Palyline | =Mull= Fiosdz_Ml 48039 421332 0279788 1 2187 2188 143 769176 140897
ul 0| =mMull= Palyline =puill= Foads_Ml 805239 421249 o 0ET7E2 2198 2199 143 E3.4147 145439
a Of=Mull=  |Palyline  |<Mull= Riosds_MI 848044 421255 00217338 1 2208 2210 143 27 4464 153803
a Of=Mull=  |Palyline  |<Mull= Riosds_MI 845095 403429 i} 0640921 2220 221 143 65.3911 162852
a Of=Mull= |Palyline  |<Mull= Riosdz_MI 413604 411359 1} 00393154 223 2232 143 74228 1737 E
a Of=Mull= |Palyline  |<Mull= Riosdz_MI 225408 411151 0.847075 1 2242 2243 143 3.87985 181067
a Of=Mull= |Palyling | <Mull= Riosdz_Ml 844390 411035 1 0934996 2253 2254 143 133757 192097
a Of=Mull= |Palyling | <Mull= Riosdz_Ml E03453 410033 1} 1 2264 2265 143 254 694 20260
1} Of=Mull= |Palyline | =Mull= Fiosdz_Ml 539865 453100 1 1] 1990 1991 143 91.294 151.358
1} Of=Mull= |Palyline | =Mull= Fiosdz_Ml 254835 427967 1} 00370734 2001 2002 143 344465 1175.59
ul 0| =mMull= Palyline =puill= Foads_Ml SE39E5 429914 1 u] 2012 2013 143 74,8046 2410.44
a Of=Mull=  |Palyline  |<Mull= Riosds_MI 108291 428579 1 a 2023 2024 143 251 245 339142

. i} Ol=Mull=_ |Paline  |<Mull= Rosds Ml SETI56 425766 0576762 i] 2034 2035 143 735565 416775




3. However Stop on Schematic layer does:

Table
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Attr_VehicleDrivingTime TimeWindow5Start | Routelame ArriveCurbApproach Attr_DrivingTimewithTurnDelay Hame Sequence DepartCurbApproach SourcelD CurbApproach Pos: «
a =nul= 406 1 a Graphic Pick 10 12 1 5 0 06714
0 =nil= 406 2 0 Graphic Pick 19 21 2 5 0 0.4935
0 =nil= 406 2 0 Graphic Pick 26 28 =riull= [} 0 0.7295
0 =nil= 413 1 0 Graphic Pick 30 4 1 5 0 09497
0 =nuill= 413 1 0 Graphic Pick 34 7 1 [ 0 02074
0 =nuill= 413 1 0 Graphic Pick 39 12 1 g 0 0.3423
a =nul= 413 1 a Graphic Pick 50 23 1 5 0 0.3342
a =nil= 413 2 a Graphic Pick 52 25 2 5 0 05733
0 =nil= 415 1 0 Graphic Pick 110 35 1 5 0 0.8551
0 =nil= 436 2 0 Graphic Pick 141 14 2 5 0 05311
0 =nil= 436 1 0 Graphic Pick 156 249 1 5 0 042158
0 =nuill= 436 2 0 Graphic Pick 1860 33 2 [ 0 02140
u] =null= 436 1 u] Graphic Pick 164 35 1 5] u] 02452
a =nul= 435 1 a Graphic Pick 12 11 1 5 0 0.0265
0 =nil= 439 2 0 Graphic Pick 37 3 2 5 0 0.5356
0 =nil= 439 2 0 Graphic Pick 42 g 1 5 0 0.0180

‘ 0 =nil= 439 1 0 Graphic Pick 46 12 1 5} 0 | D.?SE hd
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